aE 10. (Fig 10.)

3. A BHE A
x| 20ll= AT oldo] gl=X| A
ARBT A2 &9l RIE7(2| HMHE

20| E&Lch

1) Handle 7HHAI®
2xd DOORE 22 % HANDLESZ RESETHEICZ 3| XA|FH
X 7|2 RESETAIZI & ON/OFF Hisko 2 3| FA|7{ MCCB/
ELCB7} DX o 2 SEGH=X| Efelsto] FHAIL.
HANDLES RESETA|ZIS mff £823t ZI= 2 3| MA|FHS0 =
HANDLEO| A&XMoZ TRP X2 S0t 7{Lt ON gsfo 2

E825| 3™A= TRP E= OFF X2 ghdE= ZR0=
MR|ME E= Handle, XIEH7|S0M| 0|Af0| Q=X| CRA| BHH 2101
St FHAIL

EX7t HZZX| 42 Hols MM SHte] DHMEMEIZ 2t
il FHAIL.

2) St fE HiZEE DOOR JHEIE!
HANDLES OFF 2IX[0il Al DOORS| ZHIHoll O|ARRE Sfelstof

ZAN L,
HANDLEZ ON {{X[0ll =11 DOOR7t E2|X| L=X| &2l5}H0d
ESSININ

DOORE & 0l SHAFT7} HANDLESHR S| Eo =2 XIHAZ A
S07t=X] &l FHAL.
DOORE 7H4tet mff QIF st Cf2 2XYt E= df™Ete| JHm|off

WSS FX| QA EOISH0] FHAIR,

il

4. LOCK 7Is
1. Qtofl Z&HE 71&2] Handle2 37tX[2] Lock7 50| UA&LICE

1) HANDLE LOCK(OFF)
HANDLEO| OFF £|x|2! AtEHOl| A HANDLE LHEO| Q= LOCK
PLATES S0{22|™H HANDLER2 OFF g[X|0f| 2451 E&5E
LOCK PLATE 1ol X222 zHFH OFF LOCKO| 7ts
Lict,

2) HANDLE LOCK(ON)
HANDLEO| ON ¥ x|2! AEHO A HANDLE LHE0| e LOCK
PLATEE £0{Z22|H HANDLES ON {X|of &xw =&=
LOCK PLATE 7*H0ll XIE4|E XIFH ON LOCKO| 7+sEILICY,

3) BASE LOCK(OFF)
OFFQ! MEHOl M DOORE 7He 5t CHH BASE ASS'Y2| BAR
PLATE®} BASE®] ZIE5IE0l| Q= POl M2 Ux[5H ELict,
0{710]| XF2AISS Y BASEO 2|5t OFF LOCKAIEHZ H4 &
=do| 7ksEL

—

LSz
e b

- DZHAMERMIE] TEL : 1544—2080

FAX : 02)3660—7021
*Z o 0] X| http: //www.lsis.biz

-

==
i
i
I

a3 1. (Fig 11.)

3. Pretest

After installation of Handle, make test operations before use.
lt's the better way that pretest be done under condition that
uptream circuit breaker was off.

1) Operations of Handle
Close the door and rotate the Handle to RESET Direction for
making the circuit breaker ready.
And rotate the Handle to ON and OFF direction to check
operations.
It is possible that there is problem if Handle return to TRIP
direction automatically when you try to make RESET, or
Handle return to TRIP or OFF direction when you try to make
ON although you rotate it enough.
In this case, please recheck over installation, Handle itself and
circuit breaker.
Please call to the A/S center when you are not available to
handle it.
You can find the number at end of this manual.

2) Opening and Closing of Panel door

Opening and closing of panel door is possible when the
Handle is on 'OFF' position.

The Door cannot be opened when Handle is on 'ON' position.
The SHAFT should be inserted to the groove of HANDLE
ASS'Y smoothly.

The Handle shouldn't be a obstacle to opening and closing of
neighbor panels.

4. Locking
The Handle that listed in table 1. have three kinds of locking.

1) HANDLE LOCK(OFF)
Using the padlock through the hole of LOCK PLATE, HANDLE
LOCK(OFF) available,
Operate the handle to the 'OFF position and pull the LOCK
PLATE.

2) HANDLE LOCK(ON)
Using the padlock through the hole of LOCK PLATE, HANDLE
LOCK(ON) available.
Operate the handle to the 'ON' position and pull the LOCK
PLATE.

3) BASE LOCK(OFF)
During maintenance, if you want to prevent the 'ON' opeartion,
you can use the BASE LOCK(OFF).
There are aligned holes at lower left side of BASE ASSY at
the 'OFF positon and you can use them for BASE
LOCK(OFF).

LS)
- Head office TEL: 82)2—-2034—4870

FAX: 82)2—2034-4713
 Home Page http: //www.lsis.biz

Ha&89 XM

orxte| Fo|
= Ast7| ™ol et =9

= SHIEA A8sto] FHAL.
E0(7| W20l Ft=EA] XA FHAIL.

A A 'Fol'2 5t0] LRSI UASLIC

A XIAARRE
Fo| 1 XAAE
A ot

[0 njo

off AlY E= S-S YAl ok
o

ofl 7HH2 st

40 40
i
O
]
I
o
1=
b
>
mjo

Installantion Instruction

LS MCCB

Accessory Device of MCCB (EHU3,4/EHV3,4/EHX3,4)

Be sure to read the instruction manual and safety precautions
before use products.

This manual should be given to the person who use products
and maintain them.

SAFETY PRECAUTIONS

Before installation, wiring, operation, maintenance or inspection of

the device, be sure to read the warning message carefully and

ensurance of proper operation,

Please follow the instructions, because they are very important.

* In this instruction, level of dangerous are classified by 'DANGER'
and 'CAUTION'.

& DANGER : Offending against the message can be a reason
of death or serious injury.

/\ CAUTION : Incorrect handling of the device may be a cause
for minor injury or physical damage.

/\\ DANGER

* Turn off the power before mounting, dismounting, wiring,
maintenance or inspection, Or it may be a cause for electrical
shock or fire.

= o /\ CAUTION
1, 24 HSE ZJe A2 2X|510] TAAL 1. Do not use deformed or damaged MCCB or operation
2, FR, B4 U MAS Y M7IBAS HEXAIS T4 KA1 handle.

2. Mounting, detaching, wiring, maintenance and checking
should be done by authorized or certified engineer.

3. Operation handle should not be used in severe environment
such as high temperature, humidity, dusty, corrosive gas,
excessive vibration and impuls.

4. Mounting should be done according to the instruction
manual. Mistakes on mouting may be a cause for a MCCB
and operation handle or cause an accident such as
operator do himself an injury.

ZYE 1 Tk MS LXISh=X] =lstAlLz, =212 TF 1.0
o2t BE5S 20151 FHAR.

1. Check points before use

Check the packed parts following to Table 1, Fig 1 as soon as
you taken.

H1. 7|18Y BE List Table 1. Parts list according to the type
X2 MCCB 7| & 2 E ST H
Applied MCCB Type PART LIST Appendix
FUIT2f16/24 1. BASE ASSY HANDLES D =
. — Door F=
TD125UF AF _ _
EHV1—12/16/24 2. SHAFT( 12, 16, 24 inch ) BASE ASSYE= 23| F5
EHX1-12/16/24 3. HANDLE ASS'Y Shafts =&+ oz

EHU2—12/16/24 4, SPARE PART

EHX4—-12/16/24

4—1. M4 X L25 SCREW : 4ea

4—2. NO.8—-32 UNC—2A,L100 (EHU1~EHU2) : SCREW 4ea
NO.10—24 UNC—2A,L100 (EHU3) : SCREW 4ea
1/4'-20 UNC—2A,L140 (EHU4) : SCREW 4ea

TS250UF AF EHV2—-12/16/24

EHX2—12/16/24

EHU3—12/16/24
TS400UF AF EHV3—12/16/24 4-3, "I_S‘IEIL g%‘*‘l ( Instruction Manual )

4—-4, M4 X 12 SCREW 2ea
EHX3-12/16/24
5. SUPPORTER 1ea

EHU4-12/16/24 6. 1 Kind of Gasket ( NBR60 1 sheet )

TS800UF AF EHV4-12/16/24

—_ o™

Handle mounted on
Panel Door

BASE ASS'Y assembled
on the circuit breaker
Connected with Shaft.

EHU- TYPE 1, 12
EHV— TYPE 3,3R,4
EHX— TYPE 3,4,4X




BASE ASSY

Supporter TS800U

SHAFT BASE

a8l 1. (Fig 1.)

Screw(M4 X 22)

2. 3% 2
1) SuppoterS M4XL12 SCREW2I M4 Nut 2eaS 0| &35+ BASE
ASSYOl| 221510 FHAL,
oluf, 'A'”t 22 dakofl M 220 Supporter?| |EE0| SHAFT
BASEQ| AtZFE1t ZAI0| YUX[SH=X| EI5HH FHAL,

2) E-HANDLES MCCBEH|0ll Z2/5t7| ol MCCB2| EE HES
=2 AT S EZYEZ eS| FAHAL.
AH719] HandleZt=7t S0l UALH SHIE | Tripteiz HEtEl

TS400U

\

a8l 2. (Fig 2))

Supporter

B

SHAFT BASE

TS400U

a8l 3. (Fig 3.)

2. Assembling procedures

1) Mount the supporter on BASE ASS'Y with two screws,
M4XL12 and nuts.
At this time, the center of supporter should be aligned to
the center of groove in SHAFT BASE.

2) Before installation of Handle, Push the TRIP-BUTTON of
the circut breaker to make power off.
It is right thing if the HANDLE of circuit breaker move to

4ol
AU the middle side after pressing the BUTTON,
It shows circuit breaker change to TRIP state.
Mounting Screw
2.22 (56.3)
1.39 (35.3) 2.76 (70)
1.83 (46.5), o —TIT f
?
Qy 0 |
% @%g : _
o -
N\ /) BAR PLATE
00/
3 Vi
\
TAPPING
(4 Holes) \\ \ 0.433 (11)

T
Lo==2

a4l 5. (Fig 5.)

3) 400AF/800AF2 Handle(EHU3,4/EHX3,4)= Z|Z0f BASE

ASS'Y2| BAR PLATEZ} AZE 9| &lof| olsif OFF{ X0 7
|0 UELICH
MCCB 2|2 HANDLEO| BAR PLATEQ| Handle =%t &2
E5ll E£5I== BASE ASSYZ CHEtA|Z] F BASE ASSY HHISE
oFZh &7 BASE ASSYQ| MX| HI 2| X F£HO|
UX| | =2 5t MX|2 Screwz 27 L= HYXHHO| AX|
St FHAIL,
MCCB 242} E-Handle?| 2|FZZF HandleZ SA|0 &X|
StAlE Z20l= Handlelt SAl0 S5 E= Handle AX|&
Screw 470E 0|8&5t0| MX|af =A|T Tt 7[&=0| MX|=[0f
Q= MCCBEX|0| AH20| HandleS F7t2 AX|SI1X} SAl=
ZA20l= ol0] MX|E U} MCCB 2X0IA 2742 MX|
ScrewE HM|7{st = MCCBEHM|MIA ScrewZt MI7HE HXIZ0]
Handle&X|& screwE 01850 AX|5IH FAAIL,

TS400U

TS800U

13 6. (Fig 6.)

3) The BAR PLATE of 400AF/800AF(EHU3,4/EHX3,4)Handle

should be at OFF position by spring when you unpack the
Handle. At first, Lay the BASE ASS'Y on the circuit breaker
to Handle of circuit breaker project through the hole of BAR
PLATE. And then, Pull the BASE ASS'Y to array mounting
holes of BASE ASS'Y and circuit breaker's are on the same
lines. And Tighten up mounting screws.

In case, you mount circuit breakers and Handle together at
once, use four mounting screws of handle.

When you want to attach the new Handle on the circuit
breaker in use that already mounted, remove two of four
mounting screws of circuit breaker and replace two mouting
screws of circuit breaker with Handle mouting screws.

In this case, remove two screws from circuit breaker on
diagonal side at first and assemble the Handle on right
position secondary and thighten two Handle mounting
screws to empty mounting holes instead of removed old
ones at last.

TS800U

4)

ON
TRIP
OFF

a8l 4. (Fig 4.)

Xt = HYREE DOORO| HANDLE ASS'YE ZZI6H0 FAAL.
HANDLE ASSY MX| M HANDLE ASSYE Ax|sl7| @5t FHES
T8 6.1 0| 2X8t o= HiTEE DOORY| 785t FAAIL,
EM4t L= P DOORE E0{ LHE0lA| HANDLE ASSY Z=2&
HS E5f M4 X L25 SCREW 47HE 0|2310{ HANDLE ASS'YZE
ARSI FAAIL, .
MX| gskg HAIXL SHAIol= AXISCREWE HE HANDLE
ASSY AlAgtsto2at QO ZtZo 2 3| M MX|Jt JHsEhCt,
Cholmoll= EME o= vider /8 37| X DOORS| 7Hm|ek&ko|
k2t HANDLEZZF0[2] Z!o]of| 2|$t DOOR 7HH|2| REHRAT} SHE=X|
20l & HASIH TN 2.
BExd e Xt A= HANDLE ASSYRF SA|0| 22 ==
HZIE W2 Gasket (NBRGO: EA)S 27X L= HiHE DOOR
|= EHt HANDLE ALO|0l| F71510 =ML,

ol

10.83 (275.12)

6.59 (167.4)
1

1% 8. (Fig 8.)

basing on 12 inch

|

10.84 (275.4)

—
QLF%J!

Lo ]
T

5.09 (129.5)
]

basing on 12 inch

TS400U Ts800U
4.97(126,2) 6.46(164.1)
X X 7.50(190.7)
8.12(206.2 9.61(244.1)
17.04 (432.9) 18.54 (470.8)
17.5 (444.6) 19 (482.5)
18.71 (475.3) 20.2 (513.2)
5) BASE ASS'YO| SHAFTE Z2l5t0 AL,
BXdt te= HiFERO| 37|0f| 2t SHAFTS| Z0|S HTtsto] T4

AR,

7FZ2 Al HANDLED} SHAFTS| X382 2|6l SHAFTZF 28Xt &
HiZigtsto 2 SEsto{ofe X8 st FHUAL.

7182 HANDLEZ} ZEIE|X| b= HIEHE 713610 FAAL.
SHAFT7}Z20| 22 = & SHAFTS BASE ASS'Yol| ZEI5H0 =4
Ae.

SHAFTZ} SUPPOTERS| T1HS ZHE5L0{ SHAFT BASES| AMZHE 0|
=0 HEE X250 AR,

o|m, SHAFT ZZIZIz= SHAFTAMRO| PINO| DOORE =2 50|
HANDLEO| OFFQ! IX|oflM 22|17t =0 DOORS| 7HH|7} 7Hs
ON {IX[0l M= DoorE ZHZ & = UL Doorg &
S=ZE SHAFTQ| PINZ} HANDLER S| 0| MESH tigfoz
2 £ QUEE SHAFTO| ZH=E X S SHAFT BASE £HO|
X L14 SCREWZ ZO0{A SHAFTE 1H50] FAAIL.

SHAFT PINO| HANDLE ASS'YQ| BACK BASES| & & SHAFT
HOLDERO| 2l 7t XIX| 42 &2 XLt V LEVERS| 7! S0il Y|
E|O{0F FLCh,

rr

)

oo rir F

B 4

<
a1

4) Assemble the HANDLE ASS'Y on the panel door.

Before the HANDLE ASS'Y assembling, please cut cut holes
on panel to assemble the HANDLE ASS'Y. And then thighten
M4 x 25 four screws to assemble the HANDLE ASS'Y through
holes on the door.

You can change operating angle,changing the HANDLE
ASSY assembling holes position by 90 degree at same center
point in clockwise direction only. interfere the panel opening
or not before change. It has two kinds of Gasket.one is
made for anti—dust and the other used for waterproof.

From the surface of panel, the waterproof and dustproof
gasket ( NBR60:BIACK ) Should be attached at first and
assembled the HANDLE ASS'YY at last

Unblocked hole

SHAFT HOLDER
(Internal element)

M4 X L25 SCREW

V LEVER
(Internal element)

5) If the length of shaft isn't fit on your panel, you can cut the

shaft to use.

Cutting should be done on bottom side that not connected
to HANDLE ASS'Y.

Connect the Shaft after cutting.

At this time, the angle of SHAFT should be settled that door
can be opend when HANDLE is on 'OFF' position.

Door locked when HANDLE is on 'ON' position but just Door
closing is possible.

And tighten the screw M5 X L14 to fix the SHAFT.

The pin of SHAFT should be inserted to the long groove of
V LEVER through the hole of BACK BASE that unblocked
by SHAFT HOLDER.



	쪽 1
	쪽 2

